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(1) 0a1 = ¢1 - saqa - scAb Xﬂ‘)[/ F@E‘F@ﬁh&ﬁﬁi(m
(2) Qa2 = @1 cO0qa" scAj XEELEIVY ) - MPRROXEREICL DM oY — FEEREARFTEN)
3) Q.3 = (15_1 "0t Ag XEEFELEIVY ) — MRARDOI—RIBRICK 54 VY — MR EABTE (N)
0 = Min(Q.; 0., Q.3 XEZD>55. RIOHEEZHBLAMHELTD
® 4 : ERES (RRATER1/3 B8HFmEARA ()HX-1/2 2 HX-2/3)
T RIL b (SS400 B DEABEE 04 =0,/ V3 £T5B
Oy ARJL bk (SS400 4B L) DIFIEFFR mERE 0, = 235 (N/mm?)
oAy RIL kDR DERE SHETEFE (mm?)
o AV YY—bDOXERE (04 = 0.5¢ (Fc - Ec) = 427.8(N/mm?) TEHET S
Fc : AV — FORAEERE Fc = 30(N/mm?) TEHET S
Ec : aAVHY— kDY EE Ec = 2.44x10°(N/mm?) TEET S
AL A Y — bOMEEETE (mmd)
Ot a— RIS T 5309 ) — bDSIERE (o = 0.31V Fc = 1.7(N/mm®) TEET S
A : a9 ) — rOa—RBIER (BAMAARORIE) OB KEREZEE () (KX TRSER)

1. FEEAMBTEDEGE

(1) RIL FEFBEABRREDSE
M2 4HR)L FDFRSBEYEERE A, = 353 (mmd)

REATIER 0, = 1/3 % (236 / ¥3) * 353 = 15965(N) = 16.0(kN) (3¢ 1633kgf)
GHEATTERF 0, = 1/2 % (235 / ¥3) * 353 = 23948(N) = 23.9(kN) (3% 2439kgf)

(2) AVvH ) —bXEREICEEZS oY — B EBEABREDTE
A — rDOMED I SHEE A = 956.6(mm?)
EHRER Q, = 1/3 * 427.8 * 956.6 136411 (N) = 136. 4 (kN) (3¢13918kgf)
SEHARTERE Q, = 2/3 * 427.8 * 956.6 272822 (N) = 272.8(kN) (3%27837kgf)

Q = Min(Q, Q) & YEFBE AT EILX. RYAFER 16.0(kN) . SEHAFER 23.9KN) &3 %,

2. BAMAARBEOI—VIRBIREZR LAY HETEOFHE

AYHETEE c(mm)ET B, B)FEK LY Q3= 1/3 % 1.7 * (0.5 * 3.14 * ¢?) > 15965(N)E4 D c ZETETBE. ¢ > 134(mm)ETs
B, BHTIE. AYHETEEMBEDIFLULELTLNSA, 2R 87 D35 DAFREREIL 34.9mm T, 349 * 3 =104.7 < 134
ERY | EHEFE-LTWS,
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